
Conflict and Upheaval: the story so far 
Key events in the Hundred Years’ War, 1337 - 1360 

 
In preparation for war, Edward III made 
alliances with: 

 . 

 . 
These alliances were SUCCESSFUL / 
INEFFECTIVE for England because… 
 
 

The Battle of S________ took place in 
13__.   This was fought in the 
h________ and the English used 
l___________ to overwhelm the French. 
 
Success in this battle meant the English 
had control over the English Channel to 
bring in supplies to France. 
 

One effective military strategy used by 
the English was the C______________.  
These were of led by… 
 
The aim was to…. 

 . 

 . 
The key weapon used by the English was 
the l_____________.  This was superior 
to the more traditional c____________.  
It was used successfully in many battles, 
e.g.…  

The first major conflict was the B______ 
of C_______ in 13__. The English were 
arranged into ____ groups led by: 

 . 

 . 

 . 
The French were forced to r_______ 
meaning their soldiers were trampled 
by their own c__________.  The English 
use of l_________ secured their victory.  
The key reason for French defeat was… 

The English then moved to the 
B_______ of C_______.  This was more 
a s______ than a battle.  It started in 
S________ 13__ and finished in 
A_______ 13__ when the French 
s____________.  
 
Gaining Calais gave the English an 
important s_________ advantage over 
the French.   

England was also in conflict with 
S___________ at this time.  The English 
captured King D________ II at the 
B__________ of N__________ C______ 
in 13__. 
 
From 13__ the B______ D______ swept 
across Europe and put a stop to fighting.  
During this time the English 
concentrated on strengthening their 
position in G_________. 

In 13__ Edward, the Black Prince led a 
c___________ through the south of 
France.  This was followed by the 
B________ of P_________ in 13__. 
 
The English used similar tactics as used 
at Crecy.  The result was another 
significant __________ for the English.   
 
The French King _______ was captured 
and many French n_______ killed.   

The French were in no position to 
continue fighting because… 

 . 

 . 

 . 
They had to agree to the terms of the 
T_________ of B__________ in 13__: 

 . 

 . 

 . 

 . 

Edward III’s son, E________ the 
B_______ P_______ was a key figure 
and played a significant role in English 
success.  He fought in the Battles of 
C_______ and P________ and led 
several c______________ in France.   
He was a __________ military leader 
and his successes contributed to 
improving the m___________ of English 
soldiers. 

The main reasons for English success up 
to 1360 were: 
 

 . 

 . 

 . 

 . 

 . 
 

The main reasons for French loss up to 
1360 were: 
 

 . 

 . 

 . 

 . 

 . 
 

The Hundred Years War has links to the 
other elements of this unit… 

 Fighting stopped from 1348 due 
to the B________ D________. 

 The requirement to raise money 
to pay to continue fighting in 
the 1380s led to the P_______ 
T_______.  This was a direct 
cause of the P_________ 
R__________ in 13___. 

 

 


